Critical points

1. Find all the critical points of
flz,y) =a%+ 9> + 60 — 12y + 7.

Answer: Taking the first partials:

0z 0z
= =62° +6 and — = 3y — 12.
ox vo40 an oy Y

Setting these equal to 0 gives
P°=-1 = z=—-1and 3> =12 = y=+2.

The critical points are (—1,2) and (—1,—2).



MIT OpenCourseWare
http://ocw.mit.edu

18.02SC Multivariable Calculus
Fall 2010

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.


http://ocw.mit.edu
http://ocw.mit.edu/terms

